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Find the measure of the numbered angles for each parallelogram. 
 

1)      2)     3)  

 

 

 

 

 

 

 

 

 

 

4) What is the most precise name of the quadrilateral with vertices (-1, 2), (3, 4), (5, 0), (1, -2)? 

 

 

 

 

 

Find the values of the variables for which each figure is a parallelogram. 
 

5)      6)  

 

 

 

 

 

 

 

 

 

 

Find the values of the variables. 

 

7)   8)  9) 
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Find the measure of the numbered angles for each parallelogram. 
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4) What is the most precise name of the quadrilateral with vertices (-1, 2), (3, 4), (5, 0), (1, -2)? 

 

SQUARE – all sides have same length (dist formula), all 's 90° (slope) 

Side len = 2 5 , slopes are -2 and ½  

 

Find the values of the variables for which each figure is a parallelogram. 
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Find the values of the variables.  Diagrams not necessarily drawn to scale. 

 

7)   8)  9) 
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